3 A#M{EIEDEIR

(1) H#EE GLARME®E) (K25, X 15)
S 6 ED A OMEOBEIEIZIRDO LB TH D,

7 TEoik]  (£224.0~28.0cm, & 3.65~4.0m) (X. 9 H £ TIC FHE THER L. 10
AN EREE THERB L7ZAS, B TIE 1 5 3,300 (1m*%7=v, IF, A 22H =
EFTERQ)TIZEBWTHLE, ) THIFIZH T, 200 MK T L7,

A4 [EPhok] (8 14.0~22.0cm, £ 3.65~4.0m) 1%, FEMZE L THBZLZE L TH

B L., ¥ TiE 1 55,900 HCRIFEIZHRT 100 H EH L7,

7 TOOEHAK] (£214.0~22.0cm, £ 3.65~4.0m) 1%, 2 26 7H F TETMEM T
L., 8 Aol LRI CTHER U722y, F ¥ Tld 2 77 2,300 I CTRIFICEHE~T 300 M
EH L,

= b FEodAAR]  (£214.0~28.0cm, £ 3.65~4.0m) 1%, FEfl&2 @ L CHRMZE L
THERB LZb OO, F£EHTIE 1 5 5,300 [ TRIFIZH AT 700 HE T L7,

®25 F M M B

B M m
* ®) 7 = [N n B FE D
oo R I T N B R B R
K £5 24.0~28.0cm | £& 14.0~22.0cm | £& 14.0~22.0cm | £& 14.0~28. 0cm
E 3.65~ 4.0m |E 3.65~ 4.0m | E 3.65~ 4.0m | £ 3.65~ 4.0m
A s 1A I 1A s A s
STk
450 5 14, 500 15, 800 22, 000 16, 000
6 13, 300 15, 900 22, 300 15, 300
P RRIEEES2=) A 1,200 100 300 A 700
K15 = M i #& 0 # B
(1, nf)
35 r
30 OO EFHA

(£%14. 0~22. Ocm, 4%3.65~4. Om)

25 1 l

C -~
-

-

. Trmr=ee=rT . ER-LiFPN
20 BB EDPHA (#814. 0~22. Ocm, $£3.65~4. 0m)
(14, 0~28. Ocm, 3. 65~4. 0m) /

15

ol R

ESELPIPN
(#%24.0~28. Ocm, 3. 65~4. Om)

0

Af1 2 3 4 5 6 7 8 9 10 11 12 64 2 3 4 5 6 7 8 9 10 11 12
54 1A
A



(2) ARAMHSEFEME (& 26, M 16, X 17)

S 6 ED A OMEOBEIEIZIRDO LB THD,

7 A

(7) T XEMA] (& 10.5em, f@ 10.5 em, & 3.0m) X, 1 ~2HICEH LD, 6
~T7THIZIKFLEZZ End, ) TIE 5 F 1,800 HTRIFIZH~T 1,200 HIK T L7,

()  TOoxiEMA] (& 10.5cm, #E 10.5 em, & 3.0m) 1%, FRZEL TEKFLEZZ &0
O, HFREETIX 7 05 4,800 [ CRIEICHA~T 1,000 KT L7z,

() [kONIESR (PAEEEsy) | (& 10.5 cm, M8 10.5 cm, & 4.0m) %, FZE L T
LS ZE L CHERE L= b 0D, ¥ TIE 11 7 8,900 H THIAEIZEE-T 9,000 F{K T
L7,

14 B
(EHEERE A (2 1.2cm, B8 91.0cm, £ 1.82m) &, EREZBELTIEK T LZZ &b,
FE)TIE L, 570 1 (1 #4720, ) THIFICH T 450 F{EK T L7,

®26 K # 2 & H k@ E

. Ko E A "
T X IE A 0o = IE 4 # % B A& AR
(B3 & ALERAA)

E ) E  10.5 cm JE 10.5 cm . 10.5 cm = 1.2 em

t§ 10.5 cm g 10.5 cm fE 10.5 cm &  91.0 cm

£ 3.0 m £ 3.0 m £ 4.0 m £ 1.82 m

2 s 2 e 2 % 1 3

B R4 M,/ m M,/ m M,/ m M #
S5 AR 53, 000 75, 800 127, 900 2,020
6 51, 800 74, 800 118, 900 1,570
SRR A 1,200 A 1,000 /A 9,000 /A 450

16 = # @ i 8 O # ¥

(FA/m3)
160
KOWIESA (BHEGILIERT)
140 ~ (J&10. 5cm, f§10. 5em, =4. 0m)
20 T SN _____._.
O X Ef
100 (J&10. 5cm, M§10. 5em, 3. 0m)
S L .......
60 _—__N\~——\; ~ N
f

40 TEEA

N (J&10. 5¢m, H§10. 5em, 3. 0m)

Sf2 3 4 5 6 7 8 9 10 11 1264 2 3 4 5 6 7 8 9 10 11 12
5 4 1H
14



B17 & F # & Ik i & O # %

(/%0
2,400

2,200

2,000

1,800

1,600

1,400 f

1,200

1,000

A

| e
/ﬁ\?DZ3456789101112644:'23456789101112
5 4 1A
14
(3) R#Fv @ (F27. X 18)
SR 6 FEONELMASIT, FHEER, JAIER & DICEMEZE L T EFMEATHR L2 Enb ., $HEE
X, i1 7,700 H (1 t 4720, LLFRELC, ) THEHEFICHSRT 1,000 HEH L, JR3E
WL, ¥ TIZ 2 5 1,900 F TRIAEIZEERT 1,000 H EF L7z,

R21 K#F v 7 @% GULTRAEIT)
Hifr 1t

FOK BoZE B | R OE M

MY

RN 5 AR 16, 700 20, 900
6 17,700 21, 900

PINEIREES =S 1, 000 1, 000

18 K#F v JTfli 48 O # %

(FH/t)
24

23

22 PR S
_______ 2

21 =

20

19

18

17 F

4f2 3 4 5 6 7T 8 9 10 11 1264 2 3 4 5 6 7 8 9 10 11 12
54F 1A
1A



